LT81/LTM81-A

v

C € Eneoorar

WITH HIGH FREQUENCY

=50

AAAA

L2

Technical Data

Current #iEER

Duty Cycle L=

Gas S

Gas Pressure SJE

Gas Flow Sifi2

Ignition 33N A3

Post Flow S {A3ERT
Standard Length #RAERE

4 5
= 8 9
7 [
— ) -
10 11
6
4
MACHINE TORCH
1/4G B it
3/8G
19a |
M14X1 N — -
19
M16X1.5
21 Central adaptor
[ rh 47 3k
22

80 Amp
60% |_
AR =5
4.5-5.0 Bar
160LPM
HF &85 ——
80 sec. recommended ##F80%)
6M

v,

HAND TORCH

Foose et T bescipion ]

IVT6900
IVT6901
IVT6905
IVT6907
IVT6909

PA1400

PA1402
PA1404

MACHINE TORCH

[Coce T Rer | boseipion ]

IVT0630
IVT0636
IVT0706
IVT0707
IVT0708

C € Eneosrat

Plasma cutting torch LT81/6m 3/8G;% & F ] I46/LT81/6m 3/8G

Plasma cutting torch LT81/6m M14x1;% B F ] E|4/LT81/6m/M14x1

Plasma cutting torch LT81/6m M16x1.5;% 25 F ] #146/LT81/6m/M16x1.5
Plasma cutting torch LT81/6m central adaptor;% & F /] £146/LT81/6m/sh R i sk
Plasma cutting torch LT81/6m 1/4G;% & F ] £/#8/LT81/6m 1/4G

Plasma cutting auto torch LTM81/6m 3/8G;% & F B 1 {1 #/4#£/LTM81/6m 3/8G

Plasma cutting auto torch LTM81/6m central adaptor; 3 & F B &) ] £146/LTM81/6m/m R §f 3
Plasma cutting auto torch LTM81/6m 1/4G;% & F B &) {1 §14/LTM81/6m/1/4G

Plasma cutting auto torch LTM81/6m M16x1.5;% & F B sh#] £/#8/LTM81/6m/M16x1.5
Plasma cutting auto torch LTM81/6m M14x1;% &F & 5] 148/LTM81/6m/M14x1

ISM0706
ISM0088
ISM0073

1VS0665-03
1VS0665-01

1VU0605-10
1VU0605-11
1IVU0605-12

IVU0601-10
IVU0601-12
IVF0602
1IVB0604
IVB0665
1ZN0510
1ZN0516
1IVZ0690
IFT0675
1GV0035
IHJ0722
1HQ0070
1H30893

1VN00108066-00
1VN00108060-00
IVN10108066-00
1VN10108060-00
IVN0689
ICG6006
1VZ0670
1GV0018

1ZT5687
1ZT5686
1275688
1ZT5689
1ZX0078
ISM0056

CV0201 Spacer for contact cutting/LT81;5% 2 3 J24 1% LT81
CV0033 Four pointed spacer/LT81;/ &3 %2 LT81
CV0028 Spacer spring LT81;/8 B3 LT81
Outside nozzle; 5 B
PC0115 Outside nozzle LT81;5h Wi LT81
Outside nozzle/maximum life LT81;5MEtH§HC F @ LT81
Tip: Rt B
PD0105-10 Tip ® 1.0mm LT81;8:H & 1.0mm/LT81
PD0105-11 Tip ® 1.1mm LT81;55H & 1.1mm/LT81
PD0105-12 Tip ® 1.2mm LT81;BiH & 1.2mm/LT81
Tip; i
PD0106-10 Extended tip ® 1.0mm LT81; & MW ® 1.0mm/ LT8L
PD0106-12 Extended tip ® 1.2mm LT81; /14 B H ® 1.2mm/ LT81
PE0107 Diffuser LT81;4} /&% LT81
PR0109 Electrode Plasma LT81;% & F HL} LT81
PRO115 Air tube/LT81; 5/ & LT81
FHO0560 Extended electrode Plasma LT81; /0 % & FH 4} LT81
FHO561 Extended air tube/LT81; M S & LT81
Plasmatorch head LT81; ¥ & T4k LT81
EA0125 “O"ring ® 15.6x1.78mm in silicon; O { ® 15.6x1.78mm/&
Plasma handle manual/A Series/Red;% & F F T FHIARFIA &
Protection part/Plasmal/Yellow;FF % (R 4744 /% B F /& &
185.0031 Trigger; 7 %
Joint/small/new type; Bk 5 & #//VET 3
Cable assembly;E 440
CABLE ASSEMBELY/LT81/8MMQ/6M ATT.1/8G;EB4£48/L T81/8MMQ/6M ATT.1/8G
CABLE ASSEMBELY/LT81/8MMQ/6M CENTER ADAPTOR;E444H/L T81/8MMQ/6M H ¥k
CABLE ASSEMBELY/LTM81/8MMQ/6M ATT.1/8G;E4§48/L TM81/8MMQ/6M ATT.1/8G
CABLE ASSEMBELY/LTM81/8MMQ/6M CENTER ADAPTOR;E #£8/L TM81/8MMQ/6M Fsiifisk
Cable assembly/LT81/6m central adaptor;E 454B/LT81/6m/ SR iFk
Spanner for Plasma; & & F48 L F
PF0120 Plasma torch head LTM81;% B F 4t 3k LTM81
W0300144 Fiber glass position tube/LTM; B 14 F4& LTM
Cable assembly LTM;E 4548 LTM
Connecting adaptor 1/8G-1/4G ¥ # 1% £1/8G-1/4G
Connecting adaptor 1/8G-3/8G ;% ## % $x1/8G-3/8G
Connecting adaptor 1/8G-M14x1;4% #:3%#:£1/8G-M14x1
Connecting adaptor 1/8G-M16x1.5;4% # ##5£1/8G-M16x1.5
FY0023 Central adaptor torch side Plasma 5 pins; % &5 F & 5 4 Sk/5%+
CV0052 WHEEL SPACER AB1/S75;:# 4 3% 42 A81/S75



